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=USBYIDE - MABGRALRGE (Z)
Addition of 3-Digit Numbers -

HE
Calculating :
M 43-28=15
43
- 28
15
@ 70-17=53
70
- 17
53
@ 48-34=14
48
- 34
14

@9 540+80=620
540

+ 80

620

@ 60-15=45
60

- 15

® 81-50=31
81

- 50

31

) 2544+54-308
254

+ 54

308
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Subtraction of 2-Digit Numbers
with Borrowing (1)

@ 32-16=16
39

~ 16
16

® 46-24=22
46

- 24
292

© 51-19=32
51

- 19
32

2 407+328=735

407
+ 328
7395



BhagmEXIEEE:

Circle the correct solution and calculate the answer :

ODHFRNA BT8R RERFLEEWSIK  BREBEH VK2
There are 28 red pins in a box and orange pins are 9 more than the red ones.
How many orange pins are there ?

"mnm KO B. 28-9- KO

Q#ETFTRAFECHFTION LGB FTSITH SEBRTA VK2
There are 36 yellow pins in a box, Wthh are 17 more than the green ones.
How many green pins are there ?

A 36+17- Gk 36—17= 19 (#0)

@HFRAEERTOONR  EERFUREEWII8HK - FERTESF K7
There are 60 blue pins in a box and blue pins are 48 fewer than the purple ones.
How many purple pins are there ?

60+48= 108 (#) B. 60-48= (#)

@uaFRAGeREMK  LeBFITH GeBTLIEHTS S PK?
There are 34 whlte pins and 17 black pins in a box. How many more whlte pins are
there than the black ones ?

A. 34+17= (#) ‘,3rn= LT (&)

@HFNALERTION  REBFILLEW D20 2R EYW
@%ii,\iﬁ % v ?

There are 45 gold pins in a box. Silver pins are 26 less than the gold ones.
How many gold and silver pins are there altogether ?

A 45445+26- (ko) 45+45—26= 64 (4#)

©2020 SO-IN Education Group Ltd.



